RURAL WORKS DEPARTMENT





GOVERNMENT OF BIHAR

NAME OF ROAD:-

RESTORATION OF ROAD FROM RANGDAHA TO HASANPUR

DIVISION:-

R.W.D, WORKS DIVISION, FORBESGANJ

CIRCLE:-

R.W.D, WORK CIRCLE, KISHANGANJ

BLOCK:-

FORBESGANJ

ESTIMATED COST

1481780.00

	inspection Report for I	-	ood Damage Work
	1.Name of PIUs	:	E.E. RHD, Forberganj
	2. Name Of Block / Road	:	Forbesgary
	A. For Road		
	1. Damage Location / Chainage	:	26.27 4975, 87.318169
,			90.04
	3 Nature Of Damage	:	flood Danege
	4 Details Of Restoration	:	
	i) Material Being Used In Restoration	:	Local Sant, EC by, Bamboo, Andr-ba
	ii) Equipment / Tools Being Used In Restoration Wor	ks	: Tractor, JCB, Roller etc.
	iii) Procedure Taken Up In Restoration Works		Local Sand, EC by, Bamboo, Arak-ba : Tractor, JCB, Roller etc : By using Damboo bling and Ecby Hilly Local Sand and brick-bats conf
	iv) Restored Length		: 9010 M
	B. For Bridge		
	1.Damage Location / Chainage		, :
	2.Damage Length		:
	3.Nature Of Damage		:
	4.Details Of Restoration		:
	i) Material Being Used In Restoration		:
i	ii) Equipment / Tools Being Used in Restoration Work	s	:
i	iii) Procedure Taken Up In Restoration Works		: :
i	v) Restored Length		:
			12"
			7
	Alex (3/12/2)		Signature
,	Signature of JE / AE / EE		(Name Of Inspector)

Scanned with CamScanner

(Name Of Inspector)

प्रतिवेदन

प्राक्कलन की यथा शीध्र अनुमोदन अपेक्षित है ताकि अग्रेतर कार्रवाई की जा सके।

कनीय अभियंता ग्रामीण कार्य विभाग कार्य प्रशाखा—

सहायक अभियंता ग्रामीण कार्य विभाग कार्य अवर प्रमंडल– कार्यपालक अभियंता ग्रामीण कार्य विभाग कार्य प्रमंडल,फारबिसगंज

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads
Damaged during flood in JULY 2021 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM RANGDAHA TO HASANPUR

Block: FORBESGANJ

District: ARARIA

Divison: RWD, Works Division, FORBESGANJ

Circle: RWD, Work Circle, Kishanganj

SI No		Unit	Quantity (m3)	Rate (Rs)	Amount (Rs)
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.		()	(10)	(1.5)
		Cum	840.00	627.77	527328.11
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	1620.00	75.86	122890.94
1	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.				
1		Mtr.	540.00	40.06	21632.71
aı	upplying of EC bag, filling of local sand, stitching nd placing in position as per the direction of ngineer-in-charge.				
\pm		Each	12261.37	37.35	457921.88
an	apply and Carriage of brick bats upto 8 km breach ad placing in breaches and lying of bats, all amplete job.				

		Cum	60.75	1851.91	112503.75
6	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
		meter	15.00	5382.71	80740.61
	TOTAL AMOUNT =				1323018.00
	ADD 12.00 %GST=				158762.00
	SAY TOTAL AMOUNT =				1481780.00

JE RWD WORKS DIV.

FORBESGANJ

AE AE

RWD WORKS DIV. FORBESGANJ

Ref. E.E. Letter No. 1561 (30130) Dt. 28 4 22

C. 6/12

RWD WORKS DIV. FORBESGANJ

Technically Sanctic 1481, 78000

(in the Courteen lack eighty one

Shouland Seven hundred eighty Only

BOH

TITUT22

AE, circle

Perzintenting Engineer

ural Works Department

ural Works Circle, Kishangani

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads
Damaged during flood in JULY 2021 in ARARIA District

Name of Road:

RESTORATION OF ROAD FROM RANGDAHA TO HASANPUR

Block: FORBESGANU

District: ARARIA

Divison: RWD, Works Division, FORBESGANU

Circle: RWD, Work Circle, Kishangani

SIN	Description	Unit	Quantity (m3)	Rate (Rs)	Amount (Rs)
1	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.				
		Cum	840.00	627.77	527328.11
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
		Mtr.	1620.00	75.86	122890.94
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg GJ wire including cost of GJ wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.		A.2.2		
_		Mtr.	540.00	40.06	21632.71
4	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.				40
		Each	12261.37	37.35	457921.88
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete job.				
		Cum	60.75	1851.91	112503.75
6	Supply, Laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.				
_		meter	15.00	5382.71	80740.61
		Total An	nount (in Rs) =		1323018.00

RWD WORKS DIV. FORBESGANU

RWD WORKS DIV. FORBESGANJ

RWD WORKS DIV. FORBESGANI

RESTORATION OF ROAD FROM RANGDAHA TO HASANPUR

SI	No. Items of Works	Nos.	L (m)	B (m)	D	Quantity	
			(111)	(m)	(m) IN (Ay.)		
	1 Filling of local sand obtained from river bed,	1				7	
1	watering & ramming, all complete job as per			1	-		
1	specification & direction of Engineer-in-charge.	1	1	1	1		
1		1	40.00	(5.5+4.5)/2	11 1-21-1-00	277.2	
1	1	1				373.3	
l	4			(5.5+4.5)/2		466.6	
		1	0.00	(2.3+2.5)/2		0.00	
l		-			TOTAL=	840.0	
_		-	1	_	Total Qty =	840.0	
2	Labour for cutting 62mm to 75mm dia bamboo piles to size and making shoes & driving by jet machine etc. all complete job as per specification	1	-				
je.	& direction of Engineer-in-Charge.	Sections	-				
		2	40.00	3.00	3.00	720.0	
		2	50.00	3.00	3.00	900.00	
	1	1	0.00	3.00	2.00	0.00	
		0	0.00	0.00	0.00	0.00	
	I I I I I I I I I I I I I I I I I I I				Total Qty =	1620.0	
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-						
	in-Charge.	2	40.00	3.00		240.00	
		2	50.00	3.00		300.00	
		1	0.00	3.00		0.00	
		0	0.00	0.00		0.00	
					Total Qty =	540.00	
2	stitching and placing in position as per the						
	direction of Engineer-in-charge.	2	40.00	(0.9+1.5)/2	(1.5+2.5+1.6)/3	179.20	
		2	50.00	(0.6+1.2)/2	(1.5+2.5+1.6)/3	168.00	
	1	1	0.00	(0.6+1.2)/2	(1.5+2.5+1.6)/3	0.00	
		0	0.00	0.00	0.00	0.00	
					TOTAL=	347.20	
2000			Total No		304.83X35.315)	12261.3	
	SAY NO OF BAGE=						
3	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats,		1				
	all complete job.	1	40.00	4.50	0.15	27.00	
	ľ	1	50.00	4.50	0.15	33.75	
	le. T	1	0.00	4.50	0.15	0.00	
		1	0.00	0.00	0.30	0.00	
	6				Total Qty. =	60.75	
						-	
4	Supply, laying and Carriage of of hume pipe 1000				And the second	Sheet arrive	
M	mm dia (HPC), all complete job.	2	3.00	2.50	Sey_nat	15.00	
100	Marie Marie Carrier Construction and the State of the Sta			775	Total Qty. =	15.00	

RWD WORKS DIV.

RWD WORKS DIV. FORBESGANJ

CIGIZ

RWD WORKS DIV. FORBESGANJ

इंगलाहा. झे हसनपुर





Almitery &

र्वशिवाहा की हस्मित्री





Here of the start

रेंगदाहा के हत्नपूर





April 9 7 2 (13/2/2)

ट्यादाहा के हल्तपुट





April 5. 1 (5) 1 ge

उंगदाहा ल हलतपुट





April 1877 (175/12/2)